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ReminderReview.
: Generalformula of aS(traigth) line
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Difference between a quadraticfineï a linearone?

Ans:Quadratics have asquared
linear function
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Linens -OUADRANC Equation
_

Do The following in geogebra
n)Plot:LineF NFx in
2)Plot theparabolay= {X-y?-2

Question!On how manypointsolo bothfunctionsintersect?
4)

4 )Determine approximately,i.eyonthegrapph,those points
.

Ans: 2
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Q VEStioN: -How(an wedeterminethose 2
intersection pointsusing onlythe formulae for
bothfunctions?

ANWSER .
. This is exactly -today's lesson

Atany of thetwo pointswhereboth functionsmeet
both thex _ valueS arethesame & so do the y-valves

of_ each function.

In terms offormulas:
y= ITthey
yo"11th2{t]ZXIE =*41572



Ex.245=44172.2

We want to develop the right-hand -sidein order to geta standard

fuadatic equation.
31×-13=5XZ- QX + I-2 =x2_2x.s

XZ-2 -1is+43=0
X2.8
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Henle,the first intention point is..

y =+ NMYMMï substitutex =

that givesy-5s =1.95

So the first point of intersection is(4.93,
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The second point is
+
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He he, the other pointisII -7.72,
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